N =794

794 circles in acircle

N = 795

795 circles in acircle

N = 796

796 circles in acircle

radi us
ratio

0.033000363637  density = 0.864685056124
30.302696388686  contacts = 1886

N = 797

797 circles in acircle

radi us
ratio

0.032073150882  density = 0.864346799869
30.327705216344  contacts = 1521

N = 798

798 circles in acircle

radi us
ratio

0032059873183 density
30.339922561225  contacts

0.864737179231
1

N = 799

799 circles in acircle

radi us
ratio

0.032929733453  density = 0.864240774193
30.367691904560  contacts = 1890

N = 800

800 circles in acircle

radius =

ratio

0.032904772318  density = 0.864013784964
30.390728443020  contacts = 1556

N = 801

801 circles in acircle

radi us
ratio

0.032884854749  densi

0. 864049523822 3
30.409135379517  contacts 53

% BET

N = 802

802 circles inacircle

radi us
ratio

0.032874984906  density
30.418264916602  contacts

o
B

864611706056
8

N = 803

803 circles in acircle

radi us
ratio

0.032844839519  density = 0.B864105569897
30.446183164542  contacts = 1763

N = 804

804 circles in acircle

radi us
ratio

0.032820790316  density = 0.864391695995 DEsmn
30.460139720296  contacts = 1929

N = 805

805 circles inacircle

radius = 0.032794210326  density = 0.863594565401
ratio = 30.493187366573 contacts = 1607

radius =

ratio

0.032784975356  density = 0.864183105718
30.501776778441  contacts = 1477

radi us
ratio

0.032781590459  density = 0.865079301765 S5em
30.504926271368  contacts = 1465



